

## Transfers Report

This report contains the transfers results.

Contest Name	Culloden and Ardersier
Valid Votes	4,100
Positions to be Filled	3
Quota	1,026

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Steven CALVERT	Scottish Labour Party	413
Glynis CAMPBELL-SINCLAIR	Scottish National Party (SNP)	1,542
Mya CHEMONGES-MURZYNOWSKA	Alba Party for independence	137
Morven REID	Independent	626
MEL ROBERTSON	Independent	24
TRISH ROBERTSON	Scottish Liberal Democrats	626
Mary SCANLON	Scottish Conservative and Unionist	732
<b>Total</b>		<b>4,100</b>

Candidate Glynis CAMPBELL-SINCLAIR Elected with 1,542 votes, being in excess of the quota of 1,026

## Transfers Report

This report contains the transfers results.

## Stage 2 - Surplus of Glynis CAMPBELL-SINCLAIR

516.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CALVERT	276	0.33463	92.35788
Transfer to Mya CHEMONGES-MURZYNOWSKA	321	0.33463	107.41623
Transfer to Morven REID	284	0.33463	95.03492
Transfer to MEL ROBERTSON	22	0.33463	7.36186
Transfer to TRISH ROBERTSON	203	0.33463	67.92989
Transfer to Mary SCANLON	33	0.33463	11.04279
No further preference	403	0.33463	134.85589
Not transferred due to rounding			0.00054
	<b>Total</b>		<b>516.00000</b>

## Transfers Report

This report contains the transfers results.

## Stage 3 - Exclusion of MEL ROBERTSON

31.36186

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CALVERT	1	1.00000	1.00000
Transfer to Morven REID	15	1.00000	15.00000
Transfer to TRISH ROBERTSON	1	1.00000	1.00000
Transfer to Mary SCANLON	2	1.00000	2.00000
Transfer to Steven CALVERT	2	0.33463	0.66926
Transfer to Morven REID	13	0.33463	4.35019
Transfer to TRISH ROBERTSON	3	0.33463	1.00389
No further preference	5	1.00000	5.00000
No further preference	2	0.33463	0.66926
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>31.36186</b>

## Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Mya CHEMONGES-MURZYNOWSKA

245.08549

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CALVERT	22	1.00000	22.00000
Transfer to Morven REID	50	1.00000	50.00000
Transfer to TRISH ROBERTSON	17	1.00000	17.00000
Transfer to Mary SCANLON	7	1.00000	7.00000
Transfer to Steven CALVERT	48	0.33463	16.06224
Transfer to Morven REID	122	0.33463	40.82486
Transfer to TRISH ROBERTSON	44	0.33463	14.72372
Transfer to Mary SCANLON	4	0.33463	1.33852
No further preference	41	1.00000	41.00000
No further preference	105	0.33463	35.13615
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>245.08549</b>

## Transfers Report

This report contains the transfers results.

## Stage 5 - Exclusion of Steven CALVERT

545.08938

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Morven REID	103	1.00000	103.00000
Transfer to TRISH ROBERTSON	170	1.00000	170.00000
Transfer to Mary SCANLON	48	1.00000	48.00000
Transfer to Morven REID	77	0.33463	25.76651
Transfer to TRISH ROBERTSON	102	0.33463	34.13226
Transfer to Mary SCANLON	11	0.33463	3.68093
No further preference	115	1.00000	115.00000
No further preference	136	0.33463	45.50968
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>545.08938</b>

## Transfers Report

This report contains the transfers results.

## Stage 6 - Exclusion of Mary SCANLON

805.06224

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Morven REID	186	1.00000	186.00000
Transfer to TRISH ROBERTSON	362	1.00000	362.00000
Transfer to Morven REID	6	0.33463	2.00778
Transfer to TRISH ROBERTSON	13	0.33463	4.35019
No further preference	241	1.00000	241.00000
No further preference	29	0.33463	9.70427
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>805.06224</b>